

Weighted Sylvester sums on the Frobenius set

TAKAO KOMATSU AND YUAN ZHANG

ABSTRACT. Let a and b be relatively prime positive integers. In this paper the weighted sum $\sum_{n \in \text{NR}(a,b)} \lambda^{n-1} n^m$ is given explicitly or in terms of the Apostol-Bernoulli numbers, where m is a nonnegative integer, and $\text{NR}(a, b)$ denotes the set of positive integers nonrepresentable in terms of a and b .

1. INTRODUCTION

The *Frobenius Problem* is to determine the largest positive integer that is NOT representable as a nonnegative integer combination of given positive integers that are coprime (see [13] for general references).

Given positive integers a_1, \dots, a_m with $\gcd(a_1, \dots, a_m) = 1$, it is well-known that for all sufficiently large n the equation

$$a_1 x_1 + \dots + a_m x_m = n \tag{1}$$

has a solution with nonnegative integers x_1, \dots, x_m .

The *Frobenius number* $F(a_1, \dots, a_m)$ is the LARGEST integer n such that (1) has no solution in nonnegative integers. For $m = 2$, we have

$$F(a, b) = (a - 1)(b - 1) - 1$$

(Sylvester (1884) [17]). For $m \geq 3$, exact determination of the Frobenius number is difficult. The Frobenius number cannot be given by closed formulas of a certain type (Curtis (1990) [6]), the problem of determining $F(a_1, \dots, a_m)$ is NP-hard under Turing reduction (see, e.g., Ramírez Alfonsín [13]). Nevertheless, the Frobenius numbers for some special cases are calculated (e.g., [12, 14, 16]). One convenient formula is by Johnson [9]. An analytic approach to the Frobenius number can be seen in [4, 10]. Some formulae for the Frobenius number in three variables can be seen in [19].

For given a and b with $\gcd(a, b) = 1$, let $\text{NR}(a, b)$ denote the set of nonnegative integers nonrepresentable in term of a and b , namely the set of all those nonnegative integers n which cannot be expressed in the form $n = ax + by$, where x and y are nonnegative integers.

There are many kinds of problem related to the Frobenius problem. The problems of the number of solutions (e.g., [18]), and the sum of integer powers of the gaps values in numerical semigroups (e.g., [5, 8, 7]) are popular. Another famous problems is about the so-called *Sylvester sums* $\sum_{n \in \text{NR}(a,b)} n^m$, where m is a nonnegative integer (see, e.g., [20] and references therein). Recently in [3], a more general case is considered, involving the largest integer, the number of integers and the sum of integers whose number of representation is exactly equal to a given number k , and is tackled using similar power sums.

2020 *Mathematics Subject Classification.* 05A15, 11D07, 11B68, 11P81, 05A17.

Key words and phrases. Frobenius problem, weighted sums, Sylvester sums, Apostol-Bernoulli numbers.

Received on 28-2-2021; revised 13-5-2021.

In this paper, we consider the weighted sum

$$S_m^{(\lambda)}(a, b) := \sum_{n \in \text{NR}(a, b)} \lambda^{n-1} n^m \quad (\lambda \neq 0).$$

Sylvester [17] showed that $S_0^{(1)}(a, b) = (a-1)(b-1)/2$, and Brown and Shuie showed [5] that

$$S_1^{(1)}(a, b) = \frac{1}{12}(a-1)(b-1)(2ab - a - b - 1).$$

Rødseth [15] obtained a general formula for $S_m^{(1)}$ in terms of Bernoulli numbers and deduced

$$S_2^{(1)}(a, b) = \frac{1}{12}(a-1)(b-1)ab(ab - a - b).$$

Tuenter [20] also investigated $S_m^{(1)}$ by taking a different approach. He established relations between Sylvester sums and the power sums over the natural numbers. Wang and Wang [21] considered the alternating Sylvester sums

$$T_m(a, b) = \sum_{n \in \text{NR}(a, b)} (-1)^n n^m$$

by using Bernoulli and Euler numbers.

The purpose of this paper is to give an explicit expression for $S_m^{(\lambda)}(a, b)$. For $m = 1$, we can give the following formula.

Theorem 1.1. *For $\lambda \neq 0$ with $\lambda^a \neq 1$ and $\lambda^b \neq 1$,*

$$S_1^{(\lambda)}(a, b) = \frac{1}{(\lambda-1)^2} + \frac{ab\lambda^{ab-1}}{(\lambda^a-1)(\lambda^b-1)} - \frac{(\lambda^{ab}-1)((a+b)\lambda^{a+b} - a\lambda^a - b\lambda^b)}{\lambda(\lambda^a-1)^2(\lambda^b-1)^2}.$$

We also give a general expression for $S_m^{(\lambda)}(a, b)$ in terms of the Apostol-Bernoulli numbers. The alternating Sylvester sums in [21] can be also expressed as $T_m(a, b) = -S_m^{(-1)}(a, b)$.

The main new results (Theorems 4.1 and 4.3 below) cover all values of m and λ , and express $S_m^{(\lambda)}(a, b)$ in terms of the Apostol-Bernoulli numbers. In case $m = 1$ and $\lambda^a \neq 1$ the expressions reduce to those given explicitly in Theorem 1.1.

2. AN EXPLICIT EXPRESSION FOR $m = 1$

As in [5], define

$$f(x) = \sum_{n=0}^{ab-a-b} (1 - r(n))x^n,$$

where $r(n)$ denotes the number of representations of n in the form $n = sa + tb$, where s and t are nonnegative integers. Since $r(n) = 0$ or 1 for $0 \leq n \leq ab - 1$, we have

$$\begin{aligned} f'(\lambda) &= \sum_{n=1}^{ab-a-b} n(1 - r(n))\lambda^{n-1} = \sum_{\substack{1 \leq n \leq ab-a-b \\ r(n)=0}} n\lambda^{n-1} \\ &= \sum_{n \in \text{NR}(a, b)} \lambda^{n-1} n = S_1^{(\lambda)}(a, b). \end{aligned}$$

We use the following fact from [5].

Lemma 2.1.

$$f(x) = \frac{g(x)}{h(x)},$$

where

$$g(x) = \sum_{k=1}^{b-1} \frac{x^{ak} - x^k}{x-1} \quad \text{and} \quad h(x) = \sum_{k=0}^{b-1} x^k.$$

Suppose that $\lambda \neq 1 \neq \lambda^a$. Then

$$h(\lambda) = \frac{\lambda^b - 1}{\lambda - 1}$$

and

$$h'(\lambda) = \sum_{k=0}^{b-1} k\lambda^{k-1} = \frac{b\lambda^{b-1}}{\lambda-1} - \frac{\lambda^b - 1}{(\lambda-1)^2}.$$

Also, we have

$$g(\lambda) = \frac{(\lambda^{ab} - 1)(\lambda - 1) - (\lambda^a - 1)(\lambda^b - 1)}{(\lambda^a - 1)(\lambda - 1)^2}$$

and

$$\begin{aligned} g'(\lambda) &= \frac{(ab+1)\lambda^{ab} - ab\lambda^{ab-1} - (a+b)\lambda^{a+b+1} + a\lambda^{a-1} + b\lambda^{b-1} - 1}{(\lambda^a - 1)(\lambda - 1)^2} \\ &\quad - \frac{a\lambda^{a-1}}{\lambda^a - 1}g(\lambda) - \frac{2}{\lambda - 1}g(\lambda). \end{aligned}$$

Hence, we finally get

$$\begin{aligned} S_1^{(\lambda)}(a, b) &= f'(\lambda) = \frac{g'(\lambda)h(\lambda) - g(\lambda)h'(\lambda)}{(h(\lambda))^2} \\ &= \frac{1}{(\lambda - 1)^2} + \frac{ab\lambda^{ab-1}}{(\lambda^a - 1)(\lambda^b - 1)} - \frac{(\lambda^{ab} - 1)((a+b)\lambda^{a+b} - a\lambda^a - b\lambda^b)}{\lambda(\lambda^a - 1)^2(\lambda^b - 1)^2}. \end{aligned}$$

In particular, for $\lambda = 2$, we have the following.

Corollary 2.2.

$$\begin{aligned} \sum_{n \in \text{NR}(a,b)} 2^{n-1}n &= 1 + \frac{ab2^{ab-1}}{(2^a - 1)(2^b - 1)} \\ &\quad - \frac{(2^{ab} - 1)((a+b)2^{a+b} - 2^a a - 2^b b)}{2(2^a - 1)^2(2^b - 1)^2}. \end{aligned}$$

For example, for $a = 3$ and $b = 17$,

$$\begin{aligned} S_1^{(2)}(3, 17) &= 2^0 \cdot 1 + 2^1 \cdot 2 + 2^3 \cdot 4 + 2^4 \cdot 5 + 2^6 \cdot 7 + 2^7 \cdot 8 + 2^9 \cdot 10 \\ &\quad + 2^{10} \cdot 11 + 2^{12} \cdot 13 + 2^{13} \cdot 14 + 2^{15} \cdot 16 + 2^{18} \cdot 19 + 2^{21} \cdot 22 \\ &\quad + 2^{24} \cdot 25 + 2^{27} \cdot 28 + 2^{30} \cdot 31 \\ &= 37515351605. \end{aligned}$$

From Theorem 1.1 (or the above Corollary),

$$\begin{aligned} S_1^{(2)}(3, 17) &= \frac{1}{(2-1)^2} + \frac{3 \cdot 17 \cdot 2^{3 \cdot 17 - 1}}{(2^3 - 1)(2^{17} - 1)} \\ &\quad - \frac{(2^{3 \cdot 17} - 1)((3+17)2^{3+17} - 3 \cdot 2^3 - 17 \cdot 2^{17})}{2(2^3 - 1)^2(2^{17} - 1)^2} \end{aligned}$$

$$= 37515351605.$$

Similarly, by replacing 2 by another value, we can obtain that

$$\begin{aligned} S_1^{(5)}(3, 17) &= 900879734470832437423896, \\ S_1^{(1/2)}(3, 17) &= \frac{8822132865}{1073741824}, \\ S_1^{(-1)}(3, 17) &= 408, \\ S_1^{(-5/3)}(3, 17) &= \frac{760508529478902941119864}{205891132094649}, \\ S_1^{(\pm\sqrt{2})}(3, 17) &= 34250061 \pm 6965604\sqrt{2}. \end{aligned}$$

3. WEIGHTED SUMS OF HIGHER POWER

Since

$$\begin{aligned} f''(x) &= \frac{g''(x)}{h(x)} - \frac{2g'(x)h'(x) + h(x)''(x)}{(h(x))^2} + \frac{2g(x)(h'(x))^2}{(h(x))^3} \\ &= \sum_{n=2}^{ab-a-b} n(n-1)(1-r(n))x^{n-2}, \end{aligned}$$

we get

$$xf''(x) + f'(x) = \sum_{n=0}^{ab-a-b} n^2(1-r(n))x^{n-1}.$$

Hence,

$$S_2^{(\lambda)}(a, b) = \lambda f''(\lambda) + f'(\lambda).$$

For simplicity, put $X_1 = (a+b)\lambda^{a+b} - a\lambda^a - b\lambda^b$ and $X_2 = (a+b)^2\lambda^{a+b} - a^2\lambda^a - b^2\lambda^b$. Since

$$f'(\lambda) = \frac{1}{(\lambda-1)^2} + \frac{ab\lambda^{ab-1}}{(\lambda^a-1)(\lambda^b-1)} - \frac{(\lambda^{ab}-1)X_1}{\lambda(\lambda^a-1)^2(\lambda^b-1)^2},$$

we get

$$\begin{aligned} f''(\lambda) &= -\frac{2}{(\lambda-1)^3} + \frac{ab(ab-1)\lambda^{ab-2}}{(\lambda^a-1)(\lambda^b-1)} - \frac{2ab\lambda^{ab-2}X_1}{(\lambda^a-1)^2(\lambda^b-1)^2} \\ &\quad - \frac{(\lambda^{ab}-1)(X_2-X_1)}{\lambda^2(\lambda^a-1)^2(\lambda^b-1)^2} + \frac{2(\lambda^{ab}-1)X_1}{\lambda^3(\lambda^a-1)^3(\lambda^b-1)^3}. \end{aligned}$$

Therefore, we obtain

$$\begin{aligned} S_2^{(\lambda)}(a, b) &= -\frac{\lambda+1}{(\lambda-1)^2} + \frac{a^2b^2\lambda^{ab-1}}{(\lambda^a-1)(\lambda^b-1)} - \frac{2ab\lambda^{ab}X_1 + (\lambda^{ab}-1)X_2}{\lambda(\lambda^a-1)^2(\lambda^b-1)^2} \\ &\quad + \frac{2(\lambda^{ab}-1)X_1}{\lambda^2(\lambda^a-1)^3(\lambda^b-1)^3}. \end{aligned}$$

Similarly, we see that

$$\begin{aligned} S_3^{(\lambda)}(a, b) &= \lambda^2 f'''(\lambda) + 3\lambda f''(\lambda) + f'(\lambda), \\ S_4^{(\lambda)}(a, b) &= \lambda^3 f^{(4)}(\lambda) + 6\lambda^2 f'''(\lambda) + 7\lambda f''(\lambda) + f'(\lambda), \\ S_5^{(\lambda)}(a, b) &= \lambda^4 f^{(5)}(\lambda) + 10\lambda^3 f^{(4)}(\lambda) + 25\lambda^2 f'''(\lambda) + 15\lambda f''(\lambda) + f'(\lambda). \end{aligned}$$

4. APOSTOL-BERNOULLI NUMBERS

Though one may obtain explicit expressions of $S_m^{(\lambda)}(a, b)$ for small positive integers m , it is harder to obtain the formulas for large m . In this section, using the so-called Apostol-Bernoulli numbers, we give an expression of $S_m^{(\lambda)}(a, b)$ for general positive integral m .

The Apostol-Bernoulli polynomials $\mathcal{B}_n(x, \lambda)$ are defined by the generating function [1, p.165, (3.1)]:

$$\frac{ze^{xz}}{\lambda e^z - 1} = \sum_{n=0}^{\infty} \mathcal{B}_n(x, \lambda) \frac{z^n}{n!} \quad (|z + \log \lambda| < 2\pi). \quad (2)$$

When $\lambda = 1$ in (2), $B_n(x) = \mathcal{B}_n(x, 1)$ are the classical Bernoulli numbers. When $x = 0$ in (2), $\mathcal{B}_n(\lambda) = \mathcal{B}_n(0, \lambda)$ are *Apostol-Bernoulli numbers* [11, Definition 1.2], defined by

$$\frac{z}{\lambda e^z - 1} = \sum_{n=0}^{\infty} \mathcal{B}_n(\lambda) \frac{z^n}{n!} \quad (|z + \log \lambda| < 2\pi). \quad (3)$$

They seem to be also called λ -Bernoulli numbers. When $\lambda = 1$, the generating function of the left-hand side in (3) is exactly the same as that of the classical Bernoulli numbers B_n . But it does not imply that $\mathcal{B}_n(1) = B_n$ on the right-hand side though quite a few authors misunderstand. In fact, as seen in [1, p.165], the first several values are given by

$$\begin{aligned} \mathcal{B}_0(\lambda) &= 0, & \mathcal{B}_1(\lambda) &= \frac{1}{\lambda - 1}, & \mathcal{B}_2(\lambda) &= -\frac{2\lambda}{(\lambda - 1)^2}, & \mathcal{B}_3(\lambda) &= \frac{3\lambda(\lambda + 1)}{(\lambda - 1)^3}, \\ \mathcal{B}_4(\lambda) &= -\frac{4\lambda(\lambda^2 + 4\lambda + 1)}{(\lambda - 1)^4}, & \mathcal{B}_5(\lambda) &= \frac{5\lambda(\lambda^3 + 11\lambda^2 + 11\lambda + 1)}{(\lambda - 1)^5}. \end{aligned}$$

But,

$$B_0 = 1, \quad B_1 = -\frac{1}{2}, \quad B_2 = \frac{1}{6}, \quad B_3 = 0, \quad B_4 = -\frac{1}{30}, \quad B_5 = 0, \quad B_6 = \frac{1}{42}, \quad \dots$$

For $\lambda \neq 1$, Apostol-Bernoulli polynomials $\mathcal{B}_n(x, \lambda)$ can be expressed explicitly by

$$\mathcal{B}_n(x, \lambda) = \sum_{k=1}^n k \binom{n}{k} \sum_{j=0}^{k-1} (-1)^j \lambda^j (\lambda - 1)^{-j-1} j! \left\{ \begin{matrix} k-1 \\ j \end{matrix} \right\} x^{n-k} \quad (n \geq 0) \quad (4)$$

[11, Remark 2.6], where the Stirling numbers of the second kind $\left\{ \begin{matrix} n \\ k \end{matrix} \right\}$ are given by

$$\left\{ \begin{matrix} n \\ k \end{matrix} \right\} = \frac{1}{k!} \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} j^n.$$

When $x = 0$ in (4), Apostol-Bernoulli numbers $\mathcal{B}_n(\lambda)$ have an explicit expression in terms of the Stirling numbers of the second kind [1, p.166, (3.7)], [11, p.510, (3)]¹.

$$\mathcal{B}_n(\lambda) = n \sum_{j=0}^{n-1} (-1)^j \lambda^j (\lambda - 1)^{-j-1} j! \left\{ \begin{matrix} n-1 \\ j \end{matrix} \right\} \quad (n \geq 0) \quad (5)$$

We use a similar approach to Rødseth in [15]. Let n , r and s be integers with

$$r \equiv n \pmod{a} \quad (0 \leq r < a), \quad bs \equiv r \pmod{a} \quad (0 \leq s < a).$$

Notice that

$$n \in \text{NR}(a, b) \iff \exists t \in \mathbb{Z} \ (1 \leq t \leq \lfloor bs/a \rfloor), \quad n = -at + bs$$

¹In both references, the sum begins from $j = 1$. However, the value for $n = 1$ does not match the correct one $\mathcal{B}_1(\lambda) = 1/(\lambda - 1)$.

$$\iff \exists k \in \mathbb{Z} (0 \leq k \leq (bs - r)/a - 1), n = ak + r.$$

Note that the case $\lambda = 1$ is discussed in [15]. Since

$$S_m^{(\lambda)}(a, b) = \sum_{r=0}^{a-1} \sum_{k=0}^{\frac{bs-r}{a}-1} \lambda^{ak+r-1} (ak+r)^m,$$

for $\lambda \neq 1$, we have

$$\begin{aligned} \sum_{m=0}^{\infty} S_m^{(\lambda)}(a, b) \frac{z^m}{m!} &= \frac{1}{\lambda} \sum_{r=0}^{a-1} \sum_{k=0}^{\frac{bs-r}{a}-1} (\lambda e^z)^{ak+r} \\ &= \frac{1}{\lambda} \frac{1}{(\lambda e^z)^a - 1} \left(\sum_{r=0}^{a-1} (\lambda e^z)^{bs} - \sum_{r=0}^{a-1} (\lambda e^z)^r \right) \\ &= \frac{1}{\lambda} \frac{1}{(\lambda e^z)^a - 1} \left(\sum_{s=0}^{a-1} (\lambda e^z)^{bs} - \sum_{r=0}^{a-1} (\lambda e^z)^r \right) \\ &= \frac{1}{\lambda} \frac{az}{(\lambda e^z)^a - 1} \frac{bz}{(\lambda e^z)^b - 1} \frac{(\lambda e^z)^{ab} - 1}{abz^2} - \frac{1}{\lambda} \frac{1}{\lambda e^z - 1}. \end{aligned} \quad (6)$$

Assume that $\lambda^a \neq 1$ and $\lambda^b \neq 1$. The second term (without sign) of the right-hand side is equal to

$$\begin{aligned} \frac{1}{\lambda} \frac{1}{\lambda e^z - 1} &= \frac{1}{\lambda z} \sum_{m=0}^{\infty} \mathcal{B}_m(\lambda) \frac{z^m}{m!} \\ &= \frac{1}{\lambda} \sum_{m=0}^{\infty} \frac{\mathcal{B}_m(\lambda)}{m} \frac{z^{m-1}}{(m-1)!} \\ &= \frac{1}{\lambda} \sum_{m=0}^{\infty} \frac{\mathcal{B}_{m+1}(\lambda)}{m+1} \frac{z^m}{m!} \quad (\mathcal{B}_0(\lambda) = 0). \end{aligned}$$

The first term is divided into two parts. One part (without sign) is given as

$$\begin{aligned} &\frac{1}{\lambda} \frac{1}{abz^2} \frac{az}{(\lambda e^z)^a - 1} \frac{bz}{(\lambda e^z)^b - 1} \\ &= \frac{1}{\lambda} \frac{1}{abz^2} \left(\sum_{i=0}^{\infty} \mathcal{B}_i(\lambda^a) a^i \frac{z^i}{i!} \right) \left(\sum_{j=0}^{\infty} \mathcal{B}_j(\lambda^b) b^j \frac{z^j}{j!} \right) \\ &= \frac{1}{\lambda} \sum_{m=0}^{\infty} \sum_{i=0}^m \binom{m}{i} a^{i-1} b^{m-i-1} \mathcal{B}_i(\lambda^a) \mathcal{B}_{m-i}(\lambda^b) \frac{z^{m-2}}{m!} \\ &= \frac{1}{\lambda} \sum_{m=0}^{\infty} \frac{1}{(m+1)(m+2)} \sum_{i=0}^{m+2} \binom{m+2}{i} a^{i-1} b^{m-i+1} \mathcal{B}_i(\lambda^a) \mathcal{B}_{m-i+2}(\lambda^b) \frac{z^m}{m!}. \end{aligned}$$

Another part is given as

$$\begin{aligned} &\frac{\lambda^{ab-1}}{abz^2} \frac{az}{(\lambda e^z)^a - 1} \frac{bz}{(\lambda e^z)^b - 1} e^{abz} \\ &= \lambda^{ab-1} \left(\sum_{k=0}^{\infty} a^k b^k \frac{z^k}{k!} \right) \end{aligned}$$

$$\begin{aligned}
& \times \left(\sum_{\ell=0}^{\infty} \frac{1}{(\ell+1)(\ell+2)} \sum_{i=0}^{\ell+2} \binom{\ell+2}{i} a^{i-1} b^{\ell-i+1} \mathcal{B}_i(\lambda^a) \mathcal{B}_{\ell-i+2}(\lambda^b) \frac{z^\ell}{\ell!} \right) \\
& = \lambda^{ab-1} \sum_{m=0}^{\infty} \sum_{\ell=0}^m \binom{m}{\ell} \frac{1}{(\ell+1)(\ell+2)} \\
& \quad \times \sum_{i=0}^{\ell+2} \binom{\ell+2}{i} a^{m-\ell+i-1} b^{m-i+1} \mathcal{B}_i(\lambda^a) \mathcal{B}_{\ell-i+2}(\lambda^b) \frac{z^m}{m!}.
\end{aligned}$$

Comparing the coefficients on both sides of (6), we get the following expression.

Theorem 4.1. For $\lambda \neq 0$ with $\lambda^a \neq 1$ and $\lambda^b \neq 1$, and a nonnegative integer m ,

$$\begin{aligned}
S_m^{(\lambda)}(a, b) & = \lambda^{ab-1} \sum_{\ell=0}^m \sum_{i=0}^{\ell+2} \binom{\ell+2}{i} \binom{m}{\ell} \frac{a^{m-\ell+i-1} b^{m-i+1}}{(\ell+1)(\ell+2)} \mathcal{B}_i(\lambda^a) \mathcal{B}_{\ell-i+2}(\lambda^b) \\
& \quad - \frac{1}{(m+1)(m+2)\lambda} \sum_{i=0}^{m+2} \binom{m+2}{i} a^{i-1} b^{m-i+1} \mathcal{B}_i(\lambda^a) \mathcal{B}_{m-i+2}(\lambda^b) \\
& \quad - \frac{\mathcal{B}_{m+1}(\lambda)}{(m+1)\lambda}.
\end{aligned}$$

Remark 4.2. When $m = 1$ in the expression of Theorem 4.1, that of Theorem 1.1 is obtained.

If $\lambda^a = 1$ or $\lambda^b = 1$ in (6), without loss of generality, we can assume that $\lambda^a = 1$ and $\lambda^b \neq 1$. Because $\gcd(a, b) = 1$, $\lambda^a = \lambda^b = 1$ is impossible for $\lambda \neq 1$. Then, the first term of the right-hand side of (6) is equal to

$$\begin{aligned}
& \frac{1}{\lambda} \frac{az}{e^{az} - 1} \frac{bz}{\lambda^b e^{bz} - 1} \frac{e^{abz} - 1}{abz^2} \\
& = \frac{1}{\lambda z} \left(\sum_{k=0}^{\infty} \frac{a^k b^k}{k+1} \frac{z^k}{k!} \right) \left(\sum_{i=0}^{\infty} \mathcal{B}_i a^i \frac{z^i}{i!} \right) \left(\sum_{j=0}^{\infty} \mathcal{B}_j (\lambda^b)^j \frac{z^j}{j!} \right) \\
& = \frac{1}{\lambda z} \left(\sum_{k=0}^{\infty} \frac{a^k b^k}{k+1} \frac{z^k}{k!} \right) \left(\sum_{\ell=0}^{\infty} \sum_{i=0}^{\ell} \binom{\ell}{i} a^i b^{\ell-i} \mathcal{B}_i \mathcal{B}_{\ell-i} (\lambda^b) \frac{z^\ell}{\ell!} \right) \\
& = \frac{1}{\lambda z} \sum_{m=0}^{\infty} \sum_{\ell=0}^m \sum_{i=0}^{\ell} \binom{m}{\ell} \binom{\ell}{i} \frac{a^{m-\ell+i} b^{m-i}}{m-\ell+1} \mathcal{B}_i \mathcal{B}_{\ell-i} (\lambda^b) \frac{z^m}{m!} \\
& = \frac{1}{\lambda} \sum_{m=0}^{\infty} \sum_{\ell=0}^{m+1} \sum_{i=0}^{\ell} \binom{m+1}{\ell} \binom{\ell}{i} \frac{a^{m-\ell+i+1} b^{m-i+1}}{(m-\ell+2)(m+1)} \mathcal{B}_i \mathcal{B}_{\ell-i} (\lambda^b) \frac{z^m}{m!}.
\end{aligned}$$

Comparing the coefficients on both sides of (6), we get the following expression.

Theorem 4.3. For $\lambda \neq 0$ with $\lambda^a = 1$ and $\lambda^b \neq 1$, and a nonnegative integer m ,

$$\begin{aligned}
S_m^{(\lambda)}(a, b) & = \sum_{\ell=0}^{m+1} \sum_{i=0}^{\ell} \binom{m+1}{\ell} \binom{\ell}{i} \frac{a^{m-\ell+i+1} b^{m-i+1}}{(m-\ell+2)(m+1)\lambda} \mathcal{B}_i \mathcal{B}_{\ell-i} (\lambda^b) \\
& \quad - \frac{\mathcal{B}_{m+1}(\lambda)}{(m+1)\lambda}.
\end{aligned}$$

Remark 4.4. When $\lambda = -1$ in Theorem 4.1 or Theorem 4.3, formulas for Sylvester sums (5.11)–(5.14) in [21] are obtained. For, when a is odd, $\mathcal{B}_n((-1)^a) = -nE_{n-1}(0)/2$ ($n \geq 0$), where $E_n(x)$ are Euler polynomials defined by

$$\frac{2e^{xz}}{e^z + 1} = \sum_{n=0}^{\infty} E_n(x) \frac{z^n}{n!} \quad (|z| < \pi).$$

In particular, when $\lambda = -1$ and $m = 1, 2$ in Theorem 4.3, we have the following formulas. The first relation is not included in the formula in Theorem 1.1.

Corollary 4.5. *When a is even and b is odd,*

$$S_1^{(-1)}(a, b) = \frac{b(ab - a - b) + 1}{4},$$

$$S_2^{(-1)}(a, b) = \frac{ab(b-1)(2ab - a - 3b)}{12}.$$

For example, for $a = 4$ and $b = 11$, we get

$$\begin{aligned} S_1^{(-1)}(4, 11) &= (-1)^0 \cdot 1 + (-1)^1 \cdot 2 + (-1)^2 \cdot 3 + (-1)^4 \cdot 5 + (-1)^5 \cdot 6 + (-1)^6 \cdot 7 \\ &\quad + (-1)^8 \cdot 9 + (-1)^9 \cdot 10 + (-1)^{12} \cdot 13 + (-1)^{13} \cdot 14 + (-1)^{16} \cdot 17 \\ &\quad + (-1)^{17} \cdot 18 + (-1)^{20} \cdot 21 + (-1)^{24} \cdot 25 + (-1)^{28} \cdot 29 \\ &= 80. \end{aligned}$$

From Corollary 4.5, we also get

$$S_1^{(-1)}(4, 11) = \frac{11(4 \cdot 11 - 4 - 11) + 1}{4} = 80.$$

Similarly, $S_2^{(-1)}(4, 11) = 1870$.

ACKNOWLEDGEMENT

The authors thank the anonymous referees for useful comments and suggestions.

REFERENCES

- [1] T. M. Apostol: *On the Lerch Zeta function*, Pacific J. Math. 1 (1951), 161–167.
- [2] T. M. Apostol: *Introduction to Analytic Number Theory*, Springer, New York, 1976.
- [3] L. Bardomero and M. Beck, *Frobenius coin-exchange generating functions*, Amer. Math. Monthly 127 (4) (2020), 308–315.
- [4] M. Beck, I. M. Gessel and T. Komatsu: *The polynomial part of a restricted partition function related to the Frobenius problem*, Electron. J. Combin. 8 (1) (2001), #N7.
- [5] T. C. Brown and P. J. Shiue, *A remark related to the Frobenius problem*, Fibonacci Quart. 31 (1993), 32–36.
- [6] F. Curtis: *On formulas for the Frobenius number of a numerical semigroup*, Math. Scand. 67 (1990), 190–192.
- [7] L. G. Fel, T. Komatsu and A. I. Suriajaya: *A sum of negative degrees of the gaps values in 2 and 3-generated numerical semigroup*, Ann. Math. Inform. 52 (2020), 85–95. DOI: 10.33039/ami.2020.08.001
- [8] L. G. Fel and B. Y. Rubinstein: *Power sums related to semigroups $S(d_1, d_2, d_3)$* , Semigroup Forum 74 (2007), 93–98. DOI:10.33039/ami.2020.08.001
- [9] S. M. Johnson: *A Linear Diophantine problem*, Canad. J. Math. 12 (1960), 390–398.
- [10] T. Komatsu: *On the number of solutions of the Diophantine equation of Frobenius—General case*, Math. Commun. 8 (2003), 195–206.
- [11] Qiu-Ming Luo: *On the Apostol-Bernoulli polynomials*, Cent. Eur. J. Math. 2 (2004), 509–515.
- [12] D. C. Ong and V. Ponomarenko: *The Frobenius number of geometric sequences*, Integers 8 (2008), Article A33, 3 p.

- [13] J. L. Ramírez Alfonsín, *The Diophantine Frobenius Problem*, Oxford University Press, Oxford, 2005.
- [14] J. B. Roberts: *Notes on linear forms*, Proc. Amer. Math. Soc. 7 (1956), 465–469.
- [15] Ø. J. Rødseth: *A note on Brown and Shiue’s paper on a remark related to the Frobenius problem*, Fibonacci Quart. 32 (1994), 407–408.
- [16] E. S. Selmer: *On the linear diophantine problem of Frobenius*, J. Reine Angew. Math. 293/294 (1977), 1–17.
- [17] J. J. Sylvester, *Mathematical questions with their solutions*, Educational Times 41 (1884), 21.
- [18] A. Tripathi: *The number of solutions to $ax + by = n$* , Fibonacci Quart. 38 (2000), 290–293.
- [19] A. Tripathi: *Formulae for the Frobenius number in three variables*, J. Number Theory 170 (2017), 368–389.
- [20] H. J. H. Tuenter: *The Frobenius problem, sums of powers of integers, and recurrences for the Bernoulli numbers*, J. Number Theory 117 (2006), 376–386.
- [21] W. Wang and T. Wang: *Alternate Sylvester sums on the Frobenius set*, Comput. Math. Appl. 56 (2008), 1328–1334.

Takao Komatsu studied at Macquarie University, Sydney, Australia under the supervision of Alfred J. van der Poorten. His topics were continued fractions and Diophantine approximations. After several positions in Japan, he is currently working in China. His current research areas are in Combinatorics, Number Theory and Special Functions. He is the author of more than 200 research papers with more than 65 different coauthors.

Yuan Zhang joined Zhejiang Sci-Tech University after his obtaining B.S. He likes teaching and wants to become a teacher.

(Both authors) DEPARTMENT OF MATHEMATICAL SCIENCES, SCHOOL OF SCIENCE, ZHEJIANG SCI-TECH UNIVERSITY, HANGZHOU 310018 CHINA

E-mail address: komatsu@zstu.edu.cn, zjlgzy51@126.com